This report contains the transfers results.

Contest Name	Ward 4 - I
	· !
Valid Votes	
Positions to be Filled	
Quota	

Vard 4 - Fochabers Lhanbryde

3,996 3 1,000

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Dave BREMNER	Scottish National Party (SNP)	778
Donald John Craig CAMERON	Scottish Liberal Democrats	284
Marc MACRAE	Scottish Conservative and Unionist	1,590
Shona MORRISON	Scottish National Party (SNP)	940
Ben WILLIAMS	Scottish Labour Party	404
	Total	3,996

Candidate Marc MACRAE Elected with 1,590 votes, being in excess of the quota of 1,000

This report contains the transfers results.

# Stage 2 - Surplus of Marc MACRAE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave BREMNER	37	0.37106	13.72922
Transfer to Donald John Craig CAMERON	572	0.37106	212.24632
Transfer to Shona MORRISON	52	0.37106	19.29512
Transfer to Ben WILLIAMS	352	0.37106	130.61312
No further preference	577	0.37106	214.10162
Not transferred due to rounding			0.01460
	Total		590.00000

This report contains the transfers results.

## Stage 3 - Exclusion of Donald John Craig CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave BREMNER	16	1.00000	16.00000
Transfer to Shona MORRISON	42	1.00000	42.00000
Transfer to Ben WILLIAMS	156	1.00000	156.00000
Transfer to Dave BREMNER	11	0.37106	4.08166
Transfer to Shona MORRISON	11	0.37106	4.08166
Transfer to Ben WILLIAMS	377	0.37106	139.88962
No further preference	70	1.00000	70.00000
No further preference	173	0.37106	64.19338
Not transferred due to rounding			0.00000
	Total		496.24632

This report contains the transfers results.

## Stage 4 - Surplus of Shona MORRISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Dave BREMNER	847	0.00534	4.52298
Transfer to Dave BREMNER	20	0.00198	0.03960
No further preference	74	0.00534	0.39516
No further preference	34	0.00198	0.06732
Not transferred due to rounding			0.00816
	Total		5.37678

This report contains the transfers results.

## Stage 5 - Exclusion of Dave BREMNER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ben WILLIAMS	336	1.00000	336.00000
Transfer to Ben WILLIAMS	25	0.37106	9.27650
Transfer to Ben WILLIAMS	388	0.00534	2.07192
Transfer to Ben WILLIAMS	9	0.00198	0.01782
No further preference	458	1.00000	458.00000
No further preference	23	0.37106	8.53438
No further preference	459	0.00534	2.45106
No further preference	11	0.00198	0.02178
Not transferred due to rounding			0.00000
	Total		816.37346